voluo’rion —calcul 1 Note :

J'écris le résultat de chaque calcul

2+2= 3+3=

54+41= 2+5=

4+2= 1+1=

1+1+1=

voluoTion—CGIcuIQ Note :

J'écris le résultat de chaque calcul

8+1=____ 2+2=____
S+2=__ 2+1=____
4+4=__ 5+1=__
J+1+1=__

b6+2=

5+0=

6+ 1=

3+2=

1 +4=

voluo’rion —calcul 3 Note :

J'écris le résultat de chaque calcul

5-2=____ 5-3=___ 6-2=
5-1= 5-5= 5-0=

4-2= 3-1= 6-1=
10-1=

voluo’rion—colcul4 Note : /10

J'écris le résultat de chaque calcul

8-1= 8§-2=
5-2= 9-1=
4-4= 5-1= 6-4=



